08/01/21 TECH DATA SHEET 508

R
—Darkar JERRTE,

RECTUS SERIES 21

Brass/Steel Low Pressure Quick Release Couplings,
Nominal Diameter 5 = 20mm?

Mini industrial coupling with the world’s most popular profile in this nominal diameter. Above
average flow performance for liquid and gaseous media. Coupling system with single-hand
operation. Small dimensions and large band width in materials and valve variants. Series 21 with
additional end connections available on request.

-20°C up to +100°C (NBR) depending on the medium.

For temperatures below -20°C and over +100°C and depending on
the medium, other seal variants (FKM, EPDM, FFKM) are available.

Working Pressure:
35 bar

Series KA: maximum static working pressure with design factor 4 to 1.

g Working Temperature:

Single Shut Off Double Shut Off
Series 21KA Series 21KB
Interchangeability: Material:
e Camozzi e Coupling: brass
e Ewo e Plug: brass
e Kani e Seals: NBR
Material: Technical Description:
e Coupling: brass e Dead space volume: 0.6 ml
e Plug: brass e Connecting force 0 bar: 40 N
e Seals: NBR Connecting force 6 bar: 80 N
e Vacuum coupling: 96%

Technical Description: e Vacuum plug: 96%
e Connecting force 0 bar: 35 N e Vacuum connected: 96%
e Connecting force 6 bar: 60 N
* Vacuum coupling: 96%
e Vacuum connected: 96%
Flow Diagram (Air) Flow Diagram (Water) Flow Diagram (Air) Flow Diagram (Water)

1,2 6,0 | 1,2 | 6,0
g ;Z 21KA / g jz 21KA / ;:: 21KB / ZZ 21KB /
;91 06 /l g 30 Koo 06 / 30 fv=02 //
© 04 / O 20 0,4 / 2,0 /
2 // 3 // / //
@ 0,2 — § 1,0 0,2 — 1,0
o o o o 0 0

0 200 400 600 800 0 5 10 15 20 25 0 50 100 150 200 250 300 0 2 4 6 8
Flow Rate in I/min Flow Rate in I/min Flow Rate in I/min Flow Rate in I/min



Couplings, with Valve Series 21KA

Connection HEX [HEX1| L L1 L2 D B G Version Part Number
A mm | mm mm | mm | mm | mm | mm mm

G1/8 14 36 | 7 16 blank 21KAAW10MPX
G1/8 14 36 | 7 16 nickel plated | 21KAAW10MPN

L G1/4 17 38 | 9 16 blank 21KAAW13MPX
Hex o G1/4 17 38 | 9 16 nickel plated | 21KAAW13MPN
G 3/8 19 38 | 9 16 blank 21KAAW17MPX
° E{ G3/8 19 38 | 9 16 nickel plated | 21KAAW17MPN
M12x1,5 17 39 | 10 16 blank 21KAAD12MPX

Male Thread M12x1,5 17 39 | 10 16 nickel plated | 21KAAD12MPN
M14x1,5 17 39 | 10 16 blank 21KAAD14MPX

M14x1,5 17 39 | 10 16 nickel plated | 21KAAD14MPN

G1/8 14 36 | 9 16 blank 21KAIW10MPX

G1/8 14 3 | 9 16 nickel plated | 21KAIW10MPN

G 1/4 17 38 | 9 16 blank 21KAIW13MPX

G1/4 17 38 | 9 16 nickel plated | 21KAIW13MPN

G3/8 19 38 | 9 16 blank 21KAIW17MPX

G3/8 19 38 | 9 16 nickel plated | 21KAIW17MPN

M12x1,5 17 38 | 6 16 blank 21KAIM12MPX

M12x1,5 17 38 6 16 nickel plated | 21KAIM12MPN

Female Thread M14x1,5 17 38 | 6 16 blank 21KAIM14MPX
M14x1,5 17 38 | 6 16 nickel plated | 21KAIM14MPN

4 mm 14 46 | 17 16 blank 21KATFO4MPX

4 mm 14 46 | 17 16 nickel plated | 21KATFO4MPN

6 mm 14 46 | 17 16 blank 21KATFOBMPX

6 mm 14 46 | 17 16 nickel plated | 21KATFOBMPN

‘ HEXL L 8 mm 14 46 | 17 16 blank 21KATFO8MPX
mﬂ:ﬁj— 8 mm 14 46 | 17 16 nickel plated | 21KATFOSMPN
° = 9 mm 14 46 | 17 16 blank 21KATFO9MPX
9 mm 14 46 | 17 16 nickel plated | 21KATFO9MPN

Hose Barb 10 mm 14 46 | 17 16 blank 21KATF10MPX

10 mm 14 46 | 17 16 nickel plated | 21KATF10MPN

S S 4x 6 mm 14 42 | 7 | 6 | 16 M10x1 blank 21KAKOOBMPX
e 4x6mm 14 27| 6|16 M10x1 |nickel plated | 21KAKOOBMPN

DE < o 6 x 8 mm 14 42 | 7 | 6 | 16 M12x1 blank 21KAKOO8MPX
m 6 x 8 mm 14 42 | 7| 6 |16 M12x1 |nickel plated | 21KAKOOS8MPN
L2
with Plastic Hose Connection




Couplings, with Valve Series 21KA

Connection HEX |HEX1| L L1 L2 D B G Version Part Number
A mm | mm|mm|mm|mm|mm|mm mm

L 4 x 6 mm 14 12 54 7 18 16 g M10x 1 blank 21KAKS06MPX
HEX, Hexy 4x 6 mm 14 |12 | 54 | 7 |18 |16 | 3 M10x1 |nickel plated | 21KAKSO6MPN
o < Ol 6 x 8 mm 17 17 54 7 18 16 4 M12 x 1 blank 21KAKS08MPX
= 6 x 8 mm 17 17 54 7 18 16 4 M12 x 1 nickel plated | 21KAKSO08MPN

4Bl L1

L2
Panel Mount

with Plastic Hose Connection

4mm 1221260 |17 |14 |16| 4 | M10x1 blank | 21KATSO4MPX
4mm 12 |12 |60 | 17 | 14 [ 16 | 4 | M10x1 |nickel plated | 21KATSO4MPN

5mm 17 17|60 [ 17 | 14 | 16 | 4 | M12x1 blank | 21KATSO5MPX

— 5mm 17 | 17 | 60 | 17 | 14 | 16 | 4 | M12x1 |nickel plated | 21KATSO5MPN

6 mm 17 |17 | 60 | 17 | 14 | 16 | 4 | M12x1 blank | 21KATSOBMPX

D[ <I ° 6 mm 17 17 60 17 14 16 4 M12 x 1 nickel plated | 21KATS06MPN
Ce 8 mm 17 | 17 | 60 | 17 | 14 | 16 | 4 | M12x1 blank | 21KATSO8MPX

8 mm 17 | 17 | 60 | 177 | 14 | 16 | 4 | M12x1 |nickel plated| 21KATSO8MPN

Panel Mount with Hose Barb 9 mm 17 | 19|60 | 17 | 14 | 16 | 4 | M14x1 blank | 21KATSO9MPX
9mm 17 | 19| 60 | 17 | 14 | 16 | 4 | M14x1 |nickel plated| 21KATSO9MPN

10 mm 17 19|60 |17 | 14| 16| 4 | M14x1 blank | 21KATS10MPX

10 mm 17 | 19| 60 | 17 | 14 | 16 | 4 | M14x1 |nickel plated| 21KATS10MPN

L 4x6mm 14 125 7 | 6 | 16 M 10 x 1 blank | 21KAKKOBMPX

r - _‘ 4x6mm 14 125 7 | & | 16 M10x1 |nickel plated| 21KAKKOSMPN

o ﬂ[ : <o) 6x8mm 14 130 7 | 6 | 16 M 10 x 1 blank | 21KAKKO8MPX
gal 6x8mm 14 130 7 | 6 | 16 M10x1 |nickel plated| 21KAKKOSBMPN

Plastic Hose Connection
with Spring Guard




Plugs, without Valve Series 21KA

Connection HEX [HEX1| L L1 L2 D B G Version Part Number

A mm [ mm | mm | mm | mm | mm | mm mm
G1/8 14 25 7 blank 21SFAW10MXX
G1/8 14 25 7 nickel plated | 21SFAW10MXN
G1/4 17 28 9 blank 21SFAW13MXX
L G1/4 17 28 9 nickel plated | 21SFAW13MXN
HEX L1 G 3/8 19 28 9 blank 21SFAW17MXX
G 3/8 19 28 9 nickel plated | 21SFAW17MXN
E[ M 10 x 1 14 26 8 blank 21SFAD10MXX
M 10 x 1 14 26 8 nickel plated | 21SFAD10MXN
Male Thread M12x1,5 17 28 10 blank 21SFAD12MXX
M12x1,5 17 28 | 10 nickel plated | 21SFAD12MXN
G1/8 14 25 8 blank 21SFIW10MXX
G1/8 14 25 8 nickel plated | 21SFIW10MXN
G1/4 17 25 9 blank 21SFIW13MXX
G1/4 17 25 9 nickel plated | 21SFIW13MXN
L G 3/8 19 26 9 blank 21SFIW17MXX
HEX _L1 G 3/8 19 26 9 nickel plated | 21SFIW17MXN
'ET M 10 x 1 14 26 9 blank 21SFIM10MXX
DIH:H:E ) M10x 1 14 26 9 nickel plated | 21SFIM10MXN
M12x1,5 17 27 | 10 blank 21SFIM12MXX
Female Thread M12x1,5 17 27 10 nickel plated | 21SFIM12MXN
M14x1,5 17 27 | 10 blank 21SFIM14MXX
M14x1,5 17 27 | 10 nickel plated | 21SFIM14MXN
4 mm 32 | 17 <) blank 21SFTF04MXX
4 mm 32 | 17 9 nickel plated | 21SFTFO4MXN
5 mm 32 | 17 9 blank 21SFTFO5MXX
5 mm 32 | 17 9 nickel plated | 21SFTFO5MXN
6 mm 32 | 17 9 blank 21SFTFO6MXX
L 6 mm 32 | 17 9 nickel plated | 21SFTFOBMXN

L1

I 8 mm 32 | 17 9 blank 21SFTFO8MXX
DME 8 mm 32 17 9 nickel plated | 21SFTFO8MXN
9 mm 33 | 17 10 blank 21SFTFO9MXX
Hose Barb 9 mm 33 17 10 nickel plated | 21SFTFO9MXN
10 mm 33 | 17 12 blank 21SFTF10MXX
10 mm 33 | 17 12 nickel plated | 21SFTF10MXN
6 mm Parker 36 | 20 16 blank 21SFTPOBMXX
6 mm Parker 36 | 20 16 nickel plated | 21SFTPO6MXN




Plugs, without Valve Series 21KA

Connection HEX |HEX1| L L1 L2 D B G Version Part Number

A mm | mm | mm | mm | mm [ mm | mm mm
4 x 6 mm 32 6 6 10 M 10 x 1 blank 21SFKO0BMXX
L 4 x 6 mm 32 6 6 10 M10x1 nickel plated | 21SFKO06MXN
DTM b 6x 8 mm 32| 6 | 6 | 12 M 12 x 1 blank 21SFKO08MXX
et ' 6 x 8 mm 32 6 6 12 M12x1 |nickel plated | 21SFKOO8MXN

with Plastic Hose Connection

4 x 6 mm 14 | 12 | 43 7 18 8 M10x 1 blank 21SFKS06MXX
4 x 6 mm 14 | 12 | 43 7 18 3 M10x 1 |nickel plated | 21SFKS06MXN
6 x 8 mm 14 17 44 7 18 4 M12 x 1 blank 21SFKS08MXX
6 x 8 mm 14 | 17 | 44 7 18 4 M12x1 | nickel plated | 21SFKS08MXN

Panel Mount
with Plastic Hose Connection

4 mm 14 | 14 | 50 | 17 | 14 4 | M10x1 blank | 21SFTS04MXX
‘ o . 4 mm 14 | 14 | 50 | 17 | 14 4 | M10x1 |nickel plated | 21SFTS04MXN
. 6 mm 14 | 17 | 50 | 17 | 14 4 | Mi12x1 blank | 21SFTS06MXX
| .Il 0] 6 mm 14 | 17 | 50 | 17 | 14 4 | M12x1 |nickel plated | 21SFTSOBMXN
" }L 8 mm 14 | 17 | 50 | 17 | 14 4 | M12x1 blank | 21SFTSO8MXX
8 mm 14 | 17 | 50 | 17 | 14 4 | M12x1 |nickel plated | 21SFTSO8MXN
Panel Mount with Hose Barb
4x6mm 15| 6 | 6 | 10 M10x 1 blank | 21SFKKOBMXX
) 4x6mm 15| 6 | 6 | 10 M10x1 |nickel plated | 21SFKKOBMXN
6x8mm 120 6 | 6 | 12 M12x 1 blank | 21SFKKO8MXX
{7 lTWWWM\H\M < 0\ 6x8mm 120 6 | 6 | 12 M12x1 |nickel plated| 21SFKKO8MXN
2|1

Plastic Hose Connection
with Spring Guard




Couplings, with Valve Series 21KB

Connection HEX [HEX1| L L1 L2 D B G Version Part Number
A mm |mm|mm|mm|mm|mm|mm mm

G1/8 14 36 7 16 blank 21KBAW10MPX
G1/8 14 36 7 16 nickel plated | 21KBAW10MPN
G 1/4 17 38 9 16 blank 21KBAW13MPX
G1/4 17 38 9 16 nickel plated | 21KBAW13MPN
G 3/8 19 38 9 16 blank 21KBAW17MPX
G 3/8 19 38 9 16 nickel plated | 21KBAW17MPN

M10x 1 14 37 8 16 blank 21KBAD10MPX

M10x1 14 37 8 16 nickel plated | 21KBAD10MPN

Male Thread M12x1,5 17 39 | 10 16 blank 21KBAD12MPX
M12x1,5 17 39 10 16 nickel plated | 21KBAD12MPN

M14x1,5 17 39 | 10 16 blank 21KBAD14MPX

M14x1,5 17 39 10 16 nickel plated | 21KBAD14MPN

G1/8 14 36 9 16 blank 21KBIW10MPX

G1/8 14 36 9 16 nickel plated | 21KBIW10MPN

G1/4 17 38 9 16 blank 21KBIW13MPX

G1/4 17 38 9 16 nickel plated | 21KBIW13MPN

G 3/8 19 38 9 16 blank 21KBIW17MPX

G 3/8 19 38 9 16 nickel plated | 21KBIW17MPN

Female Thread M12x1,5 17 38 6 16 blank 21KBIM12MPX
M12x1,5 17 38 6 16 nickel plated | 21KBIM12MPN

4 mm 14 46 | 17 16 blank 21KBTF04MPX

4 mm 14 46 17 16 nickel plated | 21KBTF04MPN

5 mm 14 46 | 17 16 blank 21KBTFO5MPX

5 mm 14 46 17 16 nickel plated | 21KBTFO5MPN

6 mm 14 46 | 17 16 blank 21KBTFO6MPX

6 mm 14 46 17 16 nickel plated | 21KBTFO6MPN

8 mm 14 46 | 17 16 blank 21KBTFO8MPX

8 mm 14 46 17 16 nickel plated | 21KBTFO8MPN

Hose Barb 9 mm 14 46 | 17 16 blank 21KBTFO9MPX

9 mm 14 46 17 16 nickel plated | 21KBTFO9MPN

10 mm 14 46 | 17 16 blank 21KBTF10MPX

10 mm 14 46 | 17 16 nickel plated | 21KBTF10MPN

4 x 6 mm 14 42 7 6 16 M10x 1 blank 21KBKO06MPX
L 4 x6 mm 14 42 7 6 16 M10x 1 |nickel plated | 21KBKOO6MPN

| ™ 6x 8 mm 14 4217 |6 |16 M 12 x 1 blank | 21KBKOOBMPX
DL [J,Lj ol 6 x 8 mm 14 42 7 6 16 M12x1 |nickel plated | 21KBKOO8MPN
L2| L1
with Plastic Hose Connection




Couplings, with Valve Series 21KB

Connection HEX |HEX1| L L1 L2 D B G Version Part Number
A mm [ mm | mm | mm [ mm | mm | mm mm
4 x 6 mm 14 | 14 | 54 7 18 | 16 4 M 10 x 1 blank 21KBKS06MPX
Hex :m 4 x 6 mm 14 | 14 | 54 7 18 | 16 4 M 10 x 1 |nickel plated | 21KBKS06MPN
6 x 8 mm 17 | 17 | 54 7 18 | 16 4 M12 x 1 blank 21KBKS08MPX
° 6 x8 mm 17 | 17 | 54 7 18 | 16 4 M 12 x1 | nickel plated | 21KBKS08MPN

Panel Mount
with Plastic Hose Connection

4 mm 14 | 14 | 60 | 17 | 14 | 16 4 M 10 x 1 blank 21KBTS04MPX

4 mm 14 | 14 | 60 | 17 | 14 | 16 4 M 10x 1 | nickel plated | 21KBTS04MPN

‘ o t 5 mm 17 | 17 | 60 | 17 | 14 | 16 4 M12 x 1 blank 21KBTS05MPX

‘ o ot 5 mm 17 | 17 | 60 | 17 | 14 | 16 4 M 12 x 1 | nickel plated | 21KBTS05MPN
DL q 0[ 6 mm 17 | 17 | 60 | 17 | 14 | 16 4 M12 x 1 blank 21KBTS06MPX
BL; et 6 mm 17 | 17 | 60 | 17 | 14 | 16 4 M 12 x 1 |nickel plated| 21KBTS06MPN

) 8 mm 17 | 17 | 60 | 17 | 14 | 16 4 M 12 x 1 blank 21KBTS08MPX

Panel Mount with Hose Barb 8 mm 17 | 17 | 60 | 17 | 14 | 16 4 M12x 1 | nickel plated| 21KBTS08MPN
9 mm 17 | 19 | 60 | 17 | 14 | 16 4 M 12 x 1 blank 21KBTS09MPX

9 mm 17 | 19 | 60 | 17 | 14 | 16 4 M12x 1 | nickel plated| 21KBTS09MPN

4 x 6 mm 14 125 | 7 6 16 M 10 x 1 blank 21KBKK0O6MPX

. 4 x 6 mm 14 125 7 6 16 M10x 1 |nickel plated| 21KBKKO6MPN

[— HEX M 12 x 1 14 130 | 7 6 16 M 10 x 1 blank 21KBKK0O8MPX
7 6 16 M10x 1 |nickel plated| 21KBKKOS8MPN

o : <lo] M12x 1 14 130

L2 L1

Plastic Hose Connection
with Spring Guard




Plugs, without Valve Series 21KB

Connection HEX [HEX1| L L1 L2 D B G Version Part Number
A mm [ mm | mm | mm | mm | mm | mm mm

G 1/8 14 40 7 blank 21SBAW10MPX
G1/8 14 40 7 nickel plated | 21SBAW10MPN
G 1/4 17 42 9 blank 21SBAW13MPX
. G1/4 17 42 9 nickel plated | 21SBAW13MPN
HEX L1 G 3/8 19 42 9 blank 21SBAW17MPX
G 3/8 19 42 9 nickel plated | 21SBAW17MPN

q M 10 x 1 14 41 8 blank 21SBAD10MPX

M10x1 14 41 8 nickel plated | 21SBAD10MPN

Male Thread M12x1,5 17 43 | 10 blank 21SBAD12MPX
M12x1,5 17 43 | 10 nickel plated | 21SBAD12MPN

M14x1,5 17 43 10 blank 21SBAD14MPX

M14x1,5 17 43 | 10 nickel plated | 21SBAD14MPN

G 1/8 14 40 7 blank 21SBIW10MPX

G1/8 14 40 7 nickel plated | 21SBIW10MPN

G1/4 17 42 7 blank 21SBIW13MPX

G1/4 17 42 7 nickel plated | 21SBIW13MPN

E[ G 3/8 19 42 7 blank 21SBIW17MPX

G 3/8 19 42 7 nickel plated | 21SBIW17MPN

M12x1,5 17 42 7 blank 21SBIM12MPX

Female Thread M12x1,5 17 42 7 nickel plated | 21SBIM12MPN
M14x1,5 17 42 7 blank 21SBIM14MPX

M14x1,5 17 42 7 nickel plated | 21SBIM14MPN

4 mm 14 50 17 blank 21SBTF04MPX

4 mm 14 50 | 17 nickel plated | 21SBTFO4MPN

5 mm 14 50 | 17 blank 21SBTFO5MPX

5 mm 14 50 | 17 nickel plated | 21SBTFO5SMPN

HE; P 6 mm 14 50 | 17 blank 21SBTF06MPX

6 mm 14 50 17 nickel plated | 21SBTFO6MPN

Dﬂﬂ]ﬁﬂ 8 mm 14 50 | 17 blank 21SBTFO8MPX
8 mm 14 50 | 17 nickel plated | 21SBTFO8MPN

Hose Barb 9 mm 14 50 | 17 blank 21SBTF09MPX
9 mm 14 50 | 17 nickel plated | 21SBTFO9MPN

10 mm 14 50 17 blank 21SBTF10MPX

10 mm 14 50 | 17 nickel plated | 21SBTF10MPN

. 4 x 6 mm 14 46 7 6 M10x 1 blank 21SBKO06MPX
HEX 4 x6 mm 14 46 7 6 M10x 1 |nickel plated | 21SBKO0O6MPN
D@ﬂ 0{ 6 x 8 mm 14 46 7 6 M12 x 1 blank 21SBKO08MPX
2| L1 6 x8 mm 14 46 7 6 M12x 1 nickel plated | 21SBKO08MPN

with Plastic Hose Connection




Plugs, without Valve Series 21KB

Connection HEX [HEX1| L L1 L2 D B G Version Part Number
A mm [ mm | mm | mm [ mm | mm | mm mm

4 x 6 mm 14 | 12 | 58 7 18 3 M 10 x 1 blank 21SBKS06MPX

4 x6 mm 14 | 12 | 58 7 18 3 M 10x 1 |nickel plated | 21SBKS06MPN

6 x 8 mm 17 | 17 | 58 7 18 4 M12 x 1 blank 21SBKS08MPX

6 x 8 mm 17 | 17 | 58 7 18 4 M12x1 |nickel plated | 21SBKS08MPN

Panel Mount
with Plastic Hose Connection

4 mm 14 | 14 | 64 | 17 | 14 4 M 10x 1 blank 21SBTS04MPX

4 mm 14 | 14 | 64 | 17 | 14 4 M 10x 1 |nickel plated | 21SBTS04MPN

( - :m 7 6 mm 14 17 | 64 17 14 4 M12 x 1 blank 21SBTS06MPX
— 6 mm 14 | 17 | 64 | 17 | 14 4 M12x 1 |nickel plated | 21SBTS06MPN

3 ? 8 mm 14 17 | 64 17 14 4 M12 x 1 blank 21SBTS08MPX

z o 8 mm 14 | 17 | 64 | 17 | 14 4 M 12 x 1 |nickel plated | 21SBTS08MPN

10 mm 14 | 19 | 64 | 17 | 14 4 M 14 x 1 blank 21SBTS10MPX

Panel Mount with Hose Barb 10 mm 14 19 | 64 17 14 4 M 14 x1 nickel plated | 21SBTS10MPN
4 x 6 mm 14 130 | 7 6 M 10 x 1 blank 21SBKK0O6MPX

. ‘ 4 x 6 mm 14 130 | 7 6 M10x1 nickel plated | 21SBKKO6MPN

HEX 6 x 8 mm 14 135 | 7 6 M12x 1 blank 21SBKK08MPX

7 6 M12x1 | nickel plated| 21SBKKOS8MPN

< wl 6 x8 mm 14 135

2|1

Plastic Hose Connection
with Spring Guard




